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QUESTION 1

Two direct connected routers are running RIPv2, neighbors are up but there is no route in the RIP database. Review the
configuration information below. What is the potential problem? 

A. System interface is not added to the RIP protocol 

B. No import policy is configured 

C. No export policy is configured 

D. Split-horizon has to be disabled in RIP 

E. Message-size has to be configured with a non-zero value 

Correct Answer: C 

 

 

QUESTION 2

VPRN 300 is confiugred on Node 3 and Node 4 with LDP as the transport. No VPN routes are exchanged between
Node 3 and Node 4. What is the cause of the problem? 
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A. VRF policy configured on Node 3 does not match with vrf-target configured on Node 4 

B. No SDP defined in the VPRN configuration on both nodes 

C. VRF-target mismatch on Node 3 and Node 4 

D. Route-distinguisher mismatch on Node 3 and Node 4 

E. Encapsulation type mismatch on SAPs on Node 3 and Node 4 

Correct Answer: A 

 

QUESTION 3

Which of the following debug statements can be used to troubleshoot if the OSPF adjacency is staying at xstart state?
Select two answers. 

A. Debug router ospf rtm 

B. Debug router ospf packet dbdescr 

C. Debug router ospf neighbor 

D. Debug router ospf packet hello 
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E. Debug router ospf spf 

Correct Answer: BC 

 

QUESTION 4

What MPLS tunnel label(s) will be used in the data packet traveling on LSP toR4 FRR leaving from Node 3 to Node 4? 
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A. 131069 131068 

B. 131068 3 

C. 131069 

Latest 4A0-110 Dumps | 4A0-110 Practice Test | 4A0-110 Braindumps                                6 / 7

https://www.pass2lead.com/4a0-110.html
https://www.pass2lead.com/4a0-110.html
https://www.pass2lead.com/4a0-110.html


https://www.pass2lead.com/4a0-110.html
2024 Latest pass2lead 4A0-110 PDF and VCE dumps Download

D. 131068 

E. No label is used in the data packet 

Correct Answer: A 

 

QUESTION 5

A CSPF LSP with no bandwidth requirement is established from Node 1 (10.10.1.1) to Node 2 (10.10.1.2). OSPF-TE is
enabled on all routers in the network. What commands can be used on Node 1 to determine if another LSP can be
established to Node 2 with 400M bandwidth requirement? Choose all that apply. 

A. Show router lsp detail 

B. Show router ospf database detail 

C. Show router ospf opaque-database detail 

D. Tools perform router mpls cspf to 10.10.1.2 bandwidth 400 

E. Tools dump router mpls lspinfo 

Correct Answer: CD 
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